S u M PO v Third party verified

JAPAN

Confromance with

. E P D Environmental Product Declaration

VERIFIED 1SO14025 ‘ 1SO14040 ‘ 1SO14044

SUMPOEIESAI S04 L (SUMPO EPD)

P Xt BETI7
( AQUA NJi:ppzaon Aqua Co., Ltd.

79770-
AQUA BLOW

BERES H A=y ]=| NS R ZHEAR EPDYM1S
SuMPO-EPD-2601-72-1 2026/1/8 2026/1/21 2031/1/7 BH—%REPD
XEHFINEIBAEMRAEA
EHNDEEBLIRIE EPDIA&SEHARI CH-TE. EHELE AP RILERBZIERBYET,
EPDORFThRE LU B IEERERT B(CIUA T ERERL TS,
1SO21930:2007

https://ecoleaf-label.jp/epd/search



F$%%S) SUMPO-EPD-2601-72-1 SUMPO

Environmental Product Declaration for AQUA BLOW . E R AN p -
VERIFIED
OEKRIER
>7T0J5 L1ER
T0T5 L& TR SUMPORESANILTOIS I
TOISLARL=-5~-  —BHEEATATI IR EHEERE
P HR#HTFHAHEXAHET-14-8 KANDA SQUARE GATE 4F
FADLEES https://ecoleaf-label jp

> GPI-PCR{E#

GPI SuMPO EPD Japan General Program Instructions v.2.1.1
PCR& TR FESE MR EY
PCRE#HFES SuMPO-PCR-01001-1-0-0
PCREREH 2025%9H30H

LE1-I{RVEER (FE) VW3RN (RIEBKF)
PCRAEZNHARR 203049 A 29H

PCRE:(T% R R A AT IR S
> REETEER
1SO14025 % ('ISO21930:2007 [CHE>T=5E = E+&sE
o O A B
RRALOER g MIEACSS IR | EPDYRT LR
=T =T LB T

wRiEEEE FTE) WBER (BRSHEVIUTAAMEPIYIZTYUVY)

> ZEHYLIR A
B 1SO14040:2006 B 1SO14044:2006 [J 1SO14067:2018
FEHLARE B 1SO14025:2006 B 1S021930:2007 J 1S021930:2017
[0 EN15804+A2 ] EN50693:2019 L] 1SO/IEC63366:2025

EPDICEE HOIEHR L VEPDICEE H OB RICBIT 2IRIBEERICOVTOEIESEPDERB EEENEEET, EPDORNRICEAT I RIS, BEREE(IIDW
TIE. EPDEVSEEE X TEENAEDECEIL,
EPDDLLER(L, R ROMEEEE T2 (CERBLE L TRESNEINEES BV, BERERICBIZEMOI1IY1 72 EER L. BERERICE
WCEZEORBERELEYFUAZEAL VIR ENHYET, EPDOLLEDIRICE BINERMGFFIARESNMERTEPCRESBL TS,
EPDfJ‘EEELLL%DL\‘CL\éi . R E I H Y TIThN R TN ERY A,

SRR ETHEEREHETHERNEERETT, BEORSSCIVREANOFEEZ—HICERDIIONZEOTIIHYE B, £z, EELEHEIIIRE
/\U)E%E’J?&?/@(Dké’fébﬁ M (FRMEZBBLTWEHNE) (UATEE BEPARICENETOFEERFTNE) sEERIEOTEHYEL

Ao
MEFHERWVEEEDSBE. 17V EHMER R USIIHIIIAYRY NS RBEIEE R, REYREEIER. HHJ0-(CETIERERR
(3. BFEOEBCOOVTOERTIEHYE A,

@EPDEVISE X EIEIR
EXEL-HEA MRS BERTIT ZDEHEE
S BENEFEERHRXAWL1T B18-2T9v-Y VI IFT A==
FULADhE % 045-933-0855
LCAEEREE (FfE) ZFEHFE (kxXaswtovy)
BKRASHBERTIT L. BEKBABEE VLYY IA-LARMEETE IR -BEBM O
EEEYE SR IE T RBENRETIERAM - BMA-N-, BIER UL I Vl#
MThyTVIT%ED,


https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/

BEHES) SUMPO-EPD-2601-72-1 SuMPO

JAPAN

Environmental Product Declaration for AQUA BLOW .. E P
VERIFIED

@S iF#H
BB 7770~
BRORN 7770~
UEHEE  RSYCHMHR REERBRTSL
BRHEE kg B R
BB

SHmORE EEYORHMELTHIA

FATiERE  BJEER(IS A 9523) 1 0.043W/(m-k)
FH 224
I fBRZXH FREERR
e e REFEOMAFEHRERFLL, WAFHORIAARELIETEO TR, Ht : ERT,"
FRRMEREEDOMAEHEKR" <20225F >
ShEYMh (BLEHs) BEEISG-AMNIH-BEAISG-(LEIH

TOT7IA-LYY-AEBOEMERURL, B SN EM T, WAH TETHREDOR

B EAHE i N e
o WiETA'ET AL, AR5 CHE LMt ERTEET,
TS~ https://www.n—aqua.jp/assets/pdf/business/catalog/naq aquablow pamphlet 202311 04.c

QMK RUMEBEICEI 2B ESR

BRBRER EE (%) B2E
BEDL A YDA~ L #hir 100.0 1.00 kg
DEMBRER EE (%) B2E
PELS 100.0 0.02 kg
OLEYHRIREZSHE

IHH EHE (kg-C) &8 E (kg-CO: eq)
HRHLVOEYBHRRRZEEE - -
RETICHEZ2AEEMOEYHERRRZEEE


https://www.n-aqua.jp/assets/pdf/business/catalog/naq_aquablow_pamphlet_202311_04.pdf
https://www.n-aqua.jp/assets/pdf/business/catalog/naq_aquablow_pamphlet_202311_04.pdf
https://www.n-aqua.jp/assets/pdf/business/catalog/naq_aquablow_pamphlet_202311_04.pdf
https://www.n-aqua.jp/assets/pdf/business/catalog/naq_aquablow_pamphlet_202311_04.pdf
https://www.n-aqua.jp/assets/pdf/business/catalog/naq_aquablow_pamphlet_202311_04.pdf
https://www.n-aqua.jp/assets/pdf/business/catalog/naq_aquablow_pamphlet_202311_04.pdf
https://www.n-aqua.jp/assets/pdf/business/catalog/naq_aquablow_pamphlet_202311_04.pdf
https://www.n-aqua.jp/assets/pdf/business/catalog/naq_aquablow_pamphlet_202311_04.pdf
https://www.n-aqua.jp/assets/pdf/business/catalog/naq_aquablow_pamphlet_202311_04.pdf
https://www.n-aqua.jp/assets/pdf/business/catalog/naq_aquablow_pamphlet_202311_04.pdf
https://www.n-aqua.jp/assets/pdf/business/catalog/naq_aquablow_pamphlet_202311_04.pdf
https://www.n-aqua.jp/assets/pdf/business/catalog/naq_aquablow_pamphlet_202311_04.pdf
https://www.n-aqua.jp/assets/pdf/business/catalog/naq_aquablow_pamphlet_202311_04.pdf
https://www.n-aqua.jp/assets/pdf/business/catalog/naq_aquablow_pamphlet_202311_04.pdf
https://www.n-aqua.jp/assets/pdf/business/catalog/naq_aquablow_pamphlet_202311_04.pdf
https://www.n-aqua.jp/assets/pdf/business/catalog/naq_aquablow_pamphlet_202311_04.pdf
https://www.n-aqua.jp/assets/pdf/business/catalog/naq_aquablow_pamphlet_202311_04.pdf
https://www.n-aqua.jp/assets/pdf/business/catalog/naq_aquablow_pamphlet_202311_04.pdf
https://www.n-aqua.jp/assets/pdf/business/catalog/naq_aquablow_pamphlet_202311_04.pdf
https://www.n-aqua.jp/assets/pdf/business/catalog/naq_aquablow_pamphlet_202311_04.pdf
https://www.n-aqua.jp/assets/pdf/business/catalog/naq_aquablow_pamphlet_202311_04.pdf
https://www.n-aqua.jp/assets/pdf/business/catalog/naq_aquablow_pamphlet_202311_04.pdf
https://www.n-aqua.jp/assets/pdf/business/catalog/naq_aquablow_pamphlet_202311_04.pdf
https://www.n-aqua.jp/assets/pdf/business/catalog/naq_aquablow_pamphlet_202311_04.pdf
https://www.n-aqua.jp/assets/pdf/business/catalog/naq_aquablow_pamphlet_202311_04.pdf
https://www.n-aqua.jp/assets/pdf/business/catalog/naq_aquablow_pamphlet_202311_04.pdf
https://www.n-aqua.jp/assets/pdf/business/catalog/naq_aquablow_pamphlet_202311_04.pdf

Z#%ES) SUMPO-EPD-2601-72-1 SuMPO

JAPAN

Environmental Product Declaration for AQUA BLOW .. E P D

VERIFIED

OLCA BEER
>EPDY 17 1&3R
WEI(T | W E-HE O I-T8E 0 ¥R8T
EPDYAT  BARIAT O ®BEYH W EXYMIE
BrAE | O BEE O MEPHE 0 R&fE N ERfE
St 2 4 70-1
Fhrthl OO 5 EE
*fpﬁ%;ﬁiﬁ;&é;;’ PCRICEDE, 7/770-%85EL TN\ AN ST -FEUNEL, BEETOT,

ERE SR EESD § - ~
g REEEATOE - ERETEE
Dfls, et f_im;t\ YA OB CREBEATOS N\ FOT—IEMBN T, LRELTETE
TR
H 8 S EPDOHE

> LCARSE &R
EEHEAL 1kg
TEEMULYOEE
(BENDBEFRE)
HAEI0- (BREESOEELILY
[CHBRELZE)
JAT LEFR [0 Cradle-to Gate B Cradle-to-Gate with options | [ Cradle-to-Grave
LCAYIrIIT MiLCA for EPD Ver3.2.0.0
LCIT—9NR-2Z IDEAV3.1
B ETIV SURZES) © IPCCEOREHMER S Z(PCC,20134F) . ZOMDFEFESE, : LIME2
ZOMDNYT TSIV RT -4
—RT-IRE GPICHREDZRT-I@B%EwmILET-95AVTEEE1To,
—RT-AIRERN S BEEIH-AMNIS-BEREIS-LEI5
—RT-FUNEHART 2024418 ~2024F12BD1EBDT-4
Y BRkxFEORYKZEN W 0/0770-F O -1/+1770-F
5 B EvHEBOFIRNEEAIVIA O Z0fte
BHERIC ] -
9315k BAH -

HTT -
> B SR R

12 P B e 5

EMBERRE  EIRE AR (KRR ]

il e EE9E Stk ESE s "

A1l A2 A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 c2 C3 c4 D

V=]

B I ] i w B4

"B i it ﬁ X ; =2 & ;T oM

oA B oA oo s E x|

n & o I B ® # # € | o 2 no o -

A @ % % - Ly B 2 oL

' s = % 2 ¢

"= = ®E ®E B - - - - - - === ===
B EENR - EEIRHN



. SuMPO
435 2) SUMPO-EPD-2601-72-1 E p D
Environmental Product Declaration for AQUA BLOW .

_____3APAN

VERIFIED

>707-v3y

WHRIIBTREORBEEELTHEY, BRBIEDIIARY M T-5ZINETZIENEETHII LD, THTEETRE
EBEC&370T-Y3aveEEL. ESEMSHLYOREIRIF-EEHLE,

>hyb#A27

AREPDICBWVT, By A TEIToTLEL,

>YATLIESR

PCRICEDE, MROF1THAVIVERBE(L.
(A1) R RIOFE

[A2] THZADEX

(A3]EhE&

[A4)FRIBADE%E

(AS]HET

EUle, BRIV AT LR FRIZ100FE THB,

>IFU%
EVa1- anEA
R EERE, BEYEX, BISAOEXOEIXER, X FESLUOBERCOVNT, —RT-IMNME5
NBEWSOERCOWTIE, PCROVFUAZERALE,
SIS REBEEALIR ROV T, FEEYLIERE(CHT2. BeAE S . 1BHIL TOERERNEE SN
A3,A5  [ofRo, EREEVMERTSIATFVIBLEEL(EERNLEBELTEELE,

I BEEMIODOVWTEEREENERTIATVI/ALEEL (8 RANEL LT,

A2,A3,A4

HETIVY

Vv
o]

HHRETZETDIM IV IIVERBEICBEWNT, 2018F(CHE T2 BARTHORMKENDT - 2ANTEEEITO,



SuMPO

JAPAN

Z$%ES) SUMPO-EPD-2601-72-1
Environmental Product Declaration for AQUA BLOW .. E I D
VERIFIED

>317Y147)70-K

[ A7 LRRA [ mma
. pa— Ad - AS B1-B7 c1-ca D
ALIREITRIERTE BIER ERER BEEE BEOLETL B
. o . ALIRE A
ALEMEHOMNE ALTHE~DEYE A3 ot ASHET
ol

__.l W }—-| #a l—-[ P e i———-ﬁ Wi H&ié?@rl
: J+ |

a&d (ee)

RS HEMSR SENSSA  WENRHN

BEN&FOER [ mmmanzoea || A ht ]




B47ES) SUMPO-EPD-2601-72-1 SUMPO

Environmental Product Declaration for AQUA BLOW . E
V ERIFIED
EfaR
>J1791 IV E T ERER

EmsomE (2)Tsomz [A3)ELE wamscomz [AS]fET D BEFRA

SURZE) kg-CO.eq ' 0.00E+00 | 0.00E+00 1.04E+00 2.48E-01 | 1.89E-01

AV B IE kg-CFC-11eq 0.00E+00 = 0.00E+00 = 2.06E-07 = 3.32E-12 = 2.08E-08

7324 kg-SO.eq  0.00E+00 A 0.00E+00 1.02E-03 & 8.20E-04 & 1.92E-04

ZREL kg-PO.*-eq 0.00E+00 | 0.00E+00 = 5.02E-07 = 2.55E-12 = 2.70E-06

HALFEAFIIVMERK | kg-CoHseq | 0.00E+00 | 0.00E+00 | 1.68E-05 = 1.75E-06 | 4.56E-06

>F4TH17IA1IRY MU B EEIR
EHsoEE (A2Tsomz [A3)EE wams~osz [AS]JHEL D EHRA

EEERREIR kg ' 0.00E+00 | 0.00E+00 1.44E-02 | 2.48E-07 | 2.33E-03
FEFERREIRIF- kg ' 0.00E+00 | 0.00E+00 3.51E-01 | 7.55E-02 @ 8.49E-02
FEFEREIRIF- MJ ' 0.00E+00 0.00E+00  1.46E+01 3.39E+00 3.73E+00

BEAERER kg ' 0.00E+00 | 0.00E+00 1.61E-03 | 6.31E-08 @ 2.45E-02
BAERTREIRILE- MJ | 0.00E+00 0.00E+00  5.42E+00 8.60E-05 2.28E-01

WIKDHE m® | 0.00E+00 0.00E+00 2.58E-04 @ 5.06E-06 6.41E-04

PR, CO2(ibREIRMEkK), A%, A45E kg | 0.00E+00 | 0.00E+00 @ 1.00E+00 & 2.37E-01 | 1.79E-01
R, B, 44.7M)/kg, BESL EBERBEINY- | kg | 0.00E+00 @ 0.00E+00 | 5.09E-02 | 7.43E-02 @ 6.53E-02
BE, EREERIESY, AR, A5E kg | 0.00E+00  0.00E+00 6.68E-10 & 1.95E-15 | 9.95E-10

> BEEYRIERR
Emso@Ez s omz [A3]ELE (wamsomx [AS]ET D BEREA
BERERZEY kg | 0.00.E+00 0.00.E+00 | 0.00.E+00 | 0.00.E+00 0.00.E+00
EERZEY kg | 0.00E+00 | 0.00E+00 9.32E-04 | 2.15E-09 @ 5.79E-04
—MFEEY B kg | 0.00E+00 0.00E+00 2.87E-06 @ 3.47E-18 @ 4.04E-12
EXRERY BiIY kg | 0.00E+00 0.00E+00 9.29E-04 2.15E-09 = 5.79E-04

KIMTHIINICBI2REEYBERLTVEY,

> A I0-ICEAY BERRIER

EmsoEE (2)Tsomz [A3)ELE wamscomx [AS]fET D BEFRA
B A HE RS kg
U2V kg
IRIA-EUA R kg
BEZEYHSOFEEIRIF-

(IRIF-ENE=60%)

REVORH | mmympns s kg
(TRIVF-ERED

E<60%) EURTRILF- MJ
FEEY O -
(EEyoEy sy | RRDEMLNE kg

REFHEIAZNGD

TIRILF-
TRIAER) EURIRILF MJ



F§FHES) SUMPO-EPD-2601-72-1 SUMPO

Environmental Product Declaration for AQUA BLOW .. E I D

JAPAN

VERIFIED

> LCAEERRICRIIB5HEA

B REZEEER O, RISAOEE, BREYEXEOEEFEL - 1% - IR - EHRICDWT, PCRICE DY FUATE(C
BELR,

-BUERFREAIBE S ECDOVWT, BREYNIEBREICHSITE, BEAER S IBHIL TOEEBLEBESATRAL 0, 4
REMERTIATFYIELEELEEENNEY TEELR,

. BEEMOOVWEELRREEYERTSIAFVIELBEL (S ENNEL L,

FETERBECDOVTE, ELRE DT V7 70-DESE300mme LT lELEM OB BEHNSTIT7I0-1kgUYDERAE
ZUNELL,

-ZEPDTI3, PCRICEDE, &EHA FR CEZREEMNOF ER SNTIREEDEILY Y IA- L E# s TOTADEEL
oo

Q@ ENNRIZEER
> LCAICBIEL A VEINIRIZEIE TR

>HEVEICETSER
FEYES CAS No. BAINSELESIRHOSR

EMBELUEZRESEN ORI EORL

@ E Xk

+1SO14025:2006 Environmental labels and declarations — Type lll environmental declarations — Principles and
procedures

+1SO14040:2006 Environmental management - Life Cycle Assessment - Principles and framework
1SO14044:2006 Environmental management - Life Cycle Assessment - Requirements and guidelines

+1SO 21930:2007 Sustainability in building construction — Environmental declaration of building products



